ok 14 78 BN

STABILIZED TRANSMISSION AS FORWARDING

R EREE
mOERS
B T IR

OFFEEKF
- HEEENBERERS
- HE T 4 T K BOREE D
- REERETBERMEE
LTI EE



STABILIZED TRANSMISSION AS FORWARDING

BGX %518 R~ & BGX(H-B)iR¥ER

MQ\\<_

-

= -
BN, BL, BE
R sigmm 8 Hemm # #homm RS |8 2|8 B
B8 Hiw/w2|E| L [Bla|ma| 1| 1 OlH |T| N (Wwi|H1|F|d|D|h| ¢C Co | Kgf |KofiM
BGXH15BN |28 (34| 9.5 | 3.0 | 58.6 [26|26| M4 | 6.0 | 40.2 M4X0.7 9.5 (5) 15 113.0/ 60 | 45| 75| 6.0 | 951 2001 0.19 | 1.28
BGXH20BN |30 |44 (12.0| 4.5 | 69.3 (32|36| M5 | 6.5 | 48,5 M6X1 7.1 |(156)| 20 |16.3| 60 | 6.0 | 9.5 | 8.5 | 1463 3110 0.31 | 2.15
BGXH20BL (30|44 |12.0|4.5| 82.1 |32|50| M5 | 6.5 | 61.3 M6X1 71 |(156)| 20 |16.3| 60 | 6.0 | 9.5 | 8.5 | 1896 | 4030 0.36 | 2.15
BGXH25BN |40 |48 [12.5| 5.8 | 79.7 [35(35| M6 | 9.0 | 57.5 | M6X1 |14.2| (15.6) | 23 [19.2] 60 | 7.0 |11.0| 9.0 | 2052 | 4188 | 0.45 | 2.88
BGXH25BL (40|48 |12.5|5.8| 944 |35|50| M6 | 9.0 | 72.2 M6X1 14.2| (15.6) | 23 |19.2| 60 | 7.0 ([11.0| 9.0 | 2638 5383 0.66 | 2.88
BGXH25BE (40|48 |12.5| 5.8 |109.1 |35|50| M6 | 9.0 | 86.9 M6X1 14.2| (15.6) [ 23 |19.2| 60 | 7.0 |11.0| 9.0 | 2974 6454 0.80 | 2.88
BGXH30BN (45 (60 |16.0| 7.0 [ 94.8 (4040 M8 |12.0| 67.8 M6X1 11.0| (15.6) | 28 |22.8| 80 | 9.0 (14.0(12.0| 3032 5565 0.91 | 4.45
BGXH30BL (45|60 |16.0| 7.0 | 105.0 |[40(60| M8 |12.0| 78.0 M6X1 11.0| (15.6) | 28 |22.8| 80 | 9.0 [ 14.0 | 12.0 | 3927 7207 1.04 | 4.45
BGXH30BE (45|60 |16.0| 7.0 | 130.5 |40(60| M8 |12.0| 103.5 M6X1 11.0| (15.6) | 28 |22.8| 80 | 9.0 | 14.0 | 12.0 | 4372 8842 1.36 | 4.45
BGXH35BN | 55|70 (18.0| 7.5|111.5 (50|50 M8 [12.0| 80.5 M6X1 15.0| (15.6) | 34 |26.0| 80 | 9.0 |14.0 | 12.0 | 4321 8272 1.50 | 6.25
BGXH35BL |55|70|18.0(7.5|123.5|50(72| M8 |12.0| 92.5 M6X1 15.0| (15.6) | 34 |26.0| 80 | 9.0 [14.0(12.0| 5399 | 10336 | 1.80 | 6.25
BGXH35BE |55 |70 |18.0(7.5 [ 153.5 |50|72| M8 |12.0|1225| M6X1 |15.0| (15.6) | 34 |26.0| 80 | 9.0 |14.0|12.0| 5941 | 12777 | 2.34 | 6.25
BGXH45BN (70|86 |20.5| 8.9 129.0{60/60( M10 [18.0| 94.0 | M8X1.25 |24.4| (16) | 45 | 31.1| 105/14.0(20.0 (17.0| 5911 | 11105 | 2.28 | 9.60
BGXH45BL 70|86 |20.5| 8.9 [ 145.0{60(80| M10 |18.0| 110.0 | M8X1.25 |24.4| (16) | 45 | 31.1| 105/ 14.0|20.0 (17.0| 7031 | 13209 | 2.67 | 9.60
BGXH45BE |70 |86 20.5| 8.9 | 174.0/60(80| M10 | 18.0 | 139.0 | M8X1.25 [24.4| (16) |45 | 31.1) 105(14.0|20.0 [17.0| 8124 | 16650 | 3.35 | 9.60
BGX 5% 5118 R < & BGX(H F)E¥E
N L
L1
> —— ] —
el 1 i
Yy
FN, FL, FE
FHAE . . e e .
#AFEHAE-mm 78 HE-mm /8 Ei-mm HEBH-Kof |75 18| &
RigE Hiwlw2|e| L [BlJd|malih| 7| 1| oitH |TM| N [wi|[Hi|F|d | D | h| ¢ | co | Kaf|KafimM
BGXH15FN |24 | 47 [16.0(3.0| 58.6 |38(30 | M5 | 44 | 8.0 | 402 | Max07 | 55| (5) [15[13.0/ 60|45 |75 |60 951 | 2001 | 021 | 1.28
BGXH15FL |24 | 47 [16.0(3.0| 66.1 [38[30| M5 | 4.4 [ 80| 47.7 | Max0o7 | 55| (5) | 15[13.0| 60|45 | 75|60 1150 | 2419 | 023 | 1.28
BGXH20FN (30| 63 |21.5(45| 69.3 |53(40| M6 |54 | 9.0 485 | Mex1 |7.1|(156)| 20163 60| 6.0 |95 |85 1463 | 3110 | 040 | 2.15
BGXH20FL (30| 63 |21.5(4.5| 82.1 [53[40| M6 | 54 [ 90| 613 | Mext |7.1|(156) |20 (1633|6060 |95 |85 1896 | 4030 | 0.46 | 2.15
BGXH25FN (36 | 70 |23.5(5.8| 79.7 |57 45| M8 | 7.0 [10.0| 575 | Méx1 [10.2](15.6) | 23 [19.2] 60 | 7.0 [11.0| 9.0 | 2052 | 4188 | 0.57 | 2.88
BGXH25FL (36| 70 [23.5(5.8| 94.4 |57 (45| M8 | 7.0 |10.0| 72.2 M6X1 |10.2|(15.6) [ 23 |19.2| 60 | 7.0 [{11.0| 9.0 | 2638 | 5383 | 0.72 | 2.88
BGXH25FE |36 | 70 |23.5(5.8/109.1]57 [45| M8 | 7.0 [10.0] 86.9 | Mex1 [10.2] (15.6) | 23 [19.2] 60 | 7.0 [11.0] 9.0 | 2974 | 6454 | 0.89 | 2.88
BGXH30FN (42| 90 [31.0(7.0( 94.8 | 72|52 |M10| 8.6 |11.0| 67.8 M6X1 8.0 [ (15.6) | 28 [22.8| 80 | 9.0 (14.0|12.0| 3032 | 5565 | 1.10 | 4.45
BGXH30FL |42 | 90 |31.0(7.0{105.0| 72 |52|M10| 8.6 [11.0] 78.0 | Mex1 | 8.0 |(15.6)| 28 |22.8| 80 | 9.0 [14.0[12.0{ 3927 | 7207 | 1.34 | 4.45
BGXH30FE [42| 90 |31.0(7.0[130.5] 72|52 |M10| 8.6 [11.0{103.5| Mex1 | 8.0 |(15.6) | 28 |22.8] 80 | 9.0 [14.0|12.0( 4372 | 8842 | 1.66 | 4.45
BGXH35FN |48 | 100 [33.0(7.5111.5|82 |62 [M10] 8.6 [12.0] 80.5 | Mex1 |8.0| (16) | 34 [26.0] 80 | 9.0 [14.0|12.0( 4321 | 8272 | 1.50 | 6.25
BGXH35FL |48 | 100 |33.0(7.5(123.5|82 |62 |M10| 8.6 [12.0] 925 | MeX1 | 8.0 | (16) | 34 |26.0| 80 | 9.0 |14.0{12.0| 5399 | 10336 | 1.90 | 6.25
BGXH35FE |48 100 |33.0(7.5/153.5|82 |62 |M10| 8.6 [12.0[ 1225 Mex1 |8.0| (16) |34 [26.0] 80 | 9.0 [14.0|12.0( 5941 | 12777 | 2.54 | 6.25
BGXH45FN |60 | 120 |37.5(8.9[129.0 [100| 80 [M12[10.6]15.5| 94.0 | M8x1.25 [14.4| (16) | 45 |31.1]105|14.0(20.0|17.0( 5911 | 11105 | 2.27 | 9.60
BGXH45FL |60 | 120 |37.5/8.9(145.0 [100| 80 |M12|10.6 [15.5| 110.0 | M8X1.25 | 14.4| (16) | 45 |31.1|105[14.0|20.0(17.0| 7031 | 13209 | 2.68 | 9.60
BGXH45FE |60 | 120 |37.5(8.9| 174.0[100| 80 [M12[10.6]15.5] 139.0| M8x1.25 [14.4| (16) | 45 |31.1[105|14.0(20.0|17.0( 8124 | 16650 | 3.42 | 9.60




BGX %5 # 18 R~ 3K BGX(S-B)iR#EH

N
MQ
— e — J R
[l
= * =
| L
i BN, BL, BE
*E*g % i+ =Y N=Y =] 3 NN NN
FHEEFRAZ-mm /8 HE-mm 78 #l-mm EEH-Kof | B 32 | B B
gk Hiw|w2|E|L |B|J|mal ]| L1 OilH |[T1| N WilH1| F|d | D | h | ¢ | co | Kgf |Kgfm
BGXS15BS | 24 | 34 | 95 | 3.0 |40.6| 26 Ma |48 222 | Max07 | 55| (5) |15[13.0/ 60 [45]75] 6.0 | 473 | 996 | 0.10 | 1.28
BGXS15BN | 24 | 34 | 95 |30 (586 26 |26| M4 |48 402 | Max0.7 | 55| (5) [15/13.0| 60 | 45| 75| 6.0 | 951 | 2001 | 0.17 | 1.28
BGXS15BL | 24 | 34 | 95 | 3.0 |66.1| 26 |26| M4 | 4.8 | 47.7 | M4x0.7 | 55| (5) |15|13.0| 60 | 45| 7.5 | 6.0 | 1150 | 2419 | 0.18 | 1.28
BGXS20BS | 28 | 42 | 11.0 | 45 |48.3] 32 M5 |55 275 | Mex1 | 5.1 |(15.6)|20[16.3] 60 | 6.0 | 95| 85 | 753 | 1600 | 0.17 | 2.15
BGXS20BN | 28 | 42 | 11.0 | 45 [69.3| 32 [32| M5 | 55| 485 | mex1 | 5.1 |(15.6)[20[16.3] 60 | 6.0 | 9.5 | 85 [1463| 3110 | 0.26 | 2.15
BGXS25BS | 33 | 48 | 12.5 | 5.8 | 54.5| 35 M6 | 6.8] 323 | Mex1 | 7.2(15.6)[23[19.2] 60 | 7.0 [11.0] 9.0 [1049] 2141 | 0.21 | 2.88
BGXS25BN | 33 | 48 | 125 | 5.8 [79.7| 35 |35| M6 |6.8| 575 | Mex1 | 7.2|(15.6)[23[19.2] 60 | 7.0 [11.0] 9.0 |2052 | 4188 | 0.38 | 2.88
BGXX25BN | 36 | 48 | 12.5 | 5.8 [79.7| 35 |35| M6 | 9.0 | 57.5 | Mex1 |10.2[(15.6)[23[19.2] 60 | 7.0 [11.0] 9.0 [2052 4188 | 0.40 | 2.88
BGXX25BL | 36 | 48 | 12.5 | 5.8 |94.4| 35 |35| M6 | 9.0 | 722 | Mex1 |10.2](15.6)| 23[19.2] 60 | 7.0 [11.0] 9.0 | 2638 | 5383 | 0.54 | 2.88
BGXX25BE | 36 | 48 | 125 | 5.8 [109.1] 35 [50| M6 | 9.0| 86.9 | Mex1 [10.2|(15.6)[23[19.2] 60 | 7.0 [11.0] 9.0 [2974 | 6454 | 0.67 | 2.88
BGXS30BS | 42 | 60 | 16.0 | 7.0 | 64.2| 40 M8 [10.0] 37.2 | Mex1 | 8.0 |(15.6)|28|22.8] 80 | 9.0 [14.0] 12.0 [ 1503 ] 2758 | 0.50 | 4.45
BGXS30BN | 42 | 60 | 16.0 | 7.0 |94.8| 40 |40| M8 [10.0| 67.8 | Mex1 | 8.0 |(15.6)[28|22.8] 80 | 9.0 [14.0] 12.0 | 3032 | 5565 | 0.80 | 4.45
BGXS30BL | 42 | 60 | 16.0 | 7.0 [105.0] 40 |40| M8 [10.0] 78.0 | Mex1 | 8.0 |(15.6)|28[22.8] 80 | 9.0 [14.0] 12.0 [ 3927 [ 7207 | 0.94 | 4.45
BGXS30BE | 42 | 60 | 16.0 | 7.0 [130.5| 40 60| M8 [10.0[ 1035 | Mex1 | 8.0 |(15.6)[28|22.8] 80 | 9.0 [14.0] 12.0 [ 4372 | 8842 | 1.16 | 4.45
BGXS35BS | 48 | 70 | 18.0 | 7.5 | 75.5| 50 M8 [10.0] 445 | Mex1 | 8.0 |(15.6)[34|26.0] 80 | 9.0 [14.0] 12.0 | 2166 | 4146 | 0.80 | 6.25
BGXS35BN | 48 | 70 | 18.0 | 7.5 [111.5] 50 | 50| M8 [10.0] 80.5 | mex1 | 8.0 [(15.6)[34 |26.0] 80 | 9.0 [14.0] 12.0 [ 4321 | 8272 | 1.20 | 6.25
BGXS35BL | 48 | 70 | 18.0 | 7.5 [123.5] 50 |50| M8 [10.0] 925 | Mex1 | 8.0 |(15.6)|34[26.0] 80 | 9.0 [14.0] 12.0 | 5399 [10336| 1.40 | 6.25
BGXS35BE | 48 | 70 | 18.0 | 7.5 [153.5| 50 |72 | M8 [10.0] 1225 | Mex1 | 8.0 |(15.6)|34|26.0] 80 | 9.0 [14.0] 12.0 | 5941 [12777] 1.84 | 6.25
BGXS45BN | 60 | 86 | 20.5 | 8.9 [129.0] 60 |60 [M10]15.5] 94.0 | M8x1.25 [14.4] (16) [45[31.1] 105 [14.0[20.0] 17.0 [ 5911 [11105] 1.64 | 9.60
BGXS45BL | 60 | 86 | 20.5 | 8.9 [145.0] 60 |60|M10[15.5] 110.0 | M8x1.25 [14.4] (16) |45[31.1| 105 [14.0|20.0] 17.0 | 7031 [ 13209 | 1.93 | 9.60
BGXS45BE | 60 | 86 | 20.5 | 8.9 [174.0| 60 |80|M10[15.5] 139.0 | M8X1.25 [14.4| (16) |45|31.1] 105|14.0/20.0| 17.0 | 8124 [ 16650 | 2.42 | 9.60
= 1
TEBE
(pum) N
EEH/ (N)
EZEM| AC R (H)

AD BEHR(P)
iBEEm ( SP )
wiEEH ( UP )

1000 2000 3000 4000
B & (mm)
=
El1-1 BGE\RE1TENEE
B\l :mm
_ == LEk | =& & =R FBFE =R T §E 2
ER Rt Bl (SP) *f%p)%&
HHEERE (H) $0.1 | £0.04 0.04 0.02 0001 = |
0 0 -0 B B E
AL =R 50
HEERE (W) $0.1 | £0.041 "4y -0.02 -0.01 E E =
REEEMRAEIRE (AH) 0.03 | 0.02 0.01 0.005 0.003 = 2
B BEEHEEZRE (AW) 0.03 | 0.02 0.01 0.005 0.003 E B =
5‘5‘@@%%3‘5 EITEWREE AN\ C 2E[F1-1 -
58 & [D] T %9 8138 [B] M A0 1T 2 45 A D 2EFI-1 K Ik &




O MsmERE
= [l i
TEEERRK

BEEIRS
CIR=R s
A = IR

B IR G

1000

258 - -
900 AUSR : BGXH25FN-21

ERE 10 mm/s

ERAFEFHEFHZ21/6~1/10

1000
900

AUgE : BGCH25FN-Z1
RE 10 mm/s

3 os00 3 osoor
g) 700F gy "
600 [ 600 = i=
ﬁ so0 b RIE 38% ﬁ B ey
(@) "L C
® EBREFEWL .

100 100

A T T T T T T T T 0 L1 1 1 1 1 1 1 1
0 50 100 150 200 250 0 50 100 150 200 250
1718 (mm) 1318 (mm)
3 1
BGC 4518 K~ 3 BGC s R
W N L
Mo = ﬁﬂaj L1
f——— ] —=
i ; B !
=) ~
=
4 W2 BN, BL, BE
% + m B o b @

#HZE AR IE-mm /8 #E-mm /8 Bil-mm EERSH-Kaf |5 12|78 B
B Hiw|/w2|E| L [B|J|mal| 1 | L1 OilH TT| N |Wi|HI|F| d | D c CO0 | Kgf |KgfiM
BGCH15BN |28 {34 | 9.5 |3.0| 58.6 (26(26| M4 | 6.0 | 40.2 M4X0.7 9.5 (5) 15 (13.0|/ 60 | 45 | 7.5 | 6.0 | 1174 2001 0.19 | 1.28
BGCH20BN (30|44 |12.0{4.5| 69.3 |32|36| M5 | 6.5 | 48,5 M6X1 7.1 |(156) | 20 (16.3( 60 | 6.0 | 9.5 | 8.5 | 1806 3110 | 0.31 | 2.15
BGCH20BL |30 |44 |12.0|/4.5| 82.1 |32|36| M5 | 6.5 | 61.3 M6X1 7.11(156)| 20 |16.3| 60 | 6.0 | 9.5 | 85 | 2341 4030 | 0.36 | 2.15
BGCH25BN (40|48 |12.5/ 5.8 | 79.7 |35|35| M6 | 9.0 | 57.5 M6X1 14.2| (15.6) [ 23 (19.2| 60 | 7.0 |11.0| 9.0 | 2534 4188 | 0.45 | 2.88
BGCH25BL |40 |48 |12.5|/ 5.8 | 94.4 |35/35| M6 | 9.0 | 72.2 M6X1 14.2| (15.6) [ 23 (19.2| 60 | 7.0 |11.0| 9.0 | 3256 5383 | 0.66 | 2.88
BGCH25BE |40 |48 |{12.5| 5.8 [ 109.1 |35/50| M6 | 9.0 | 86.9 M6X1 14.2| (15.6) | 23 [19.2| 60 | 7.0 [11.0| 9.0 | 3671 6454 | 0.80 | 2.88
BGCH30BN |45 |60 |16.0| 7.0 | 94.8 (40(40| M8 |12.0| 67.8 M6X1 11.0| (15.6) | 28 [22.8| 80 | 9.0 |14.0|12.0| 3743 5565 | 0.91 | 4.45
BGCH30BL (45|60 |16.0| 7.0 [ 105.0 40|40 M8 [12.0| 78.0 M6X1 11.0| (15.6) [ 28 |22.8| 80 | 9.0 | 14.0|12.0| 4848 7207 | 1.04 | 4.45
BGCH30BE | 45|60 (16.0| 7.0 | 130.5 |[40|/60| M8 |12.0| 103.5 M6X1 11.0| (15.6) | 28 |22.8| 80 | 9.0 |14.0|12.0| 5397 8842 | 1.36 | 4.45
BGCH35BN | 55|70(18.0/ 7.5| 111.5 |50(50| M8 |12.0| 80.5 M6X1 15.0| (15.6) | 34 [26.0| 80 | 9.0 |14.0|12.0| 5335 8272 | 1.50 | 6.25
BGCH35BL | 55|70 |18.0| 7.5 123.5 |50/50| M8 [12.0| 92.5 M6X1 15.0| (15.6) | 34 [26.0| 80 | 9.0 |14.0|12.0| 6666 | 10336 | 1.80 | 6.25
BGCH35BE | 55|70 (18.0| 7.5 [ 153.5 50|72 M8 |12.0| 122.5 M6X1 15.0| (15.6) | 34 [26.0| 80 | 9.0 |14.0|12.0| 7334 | 12777 | 2.34 | 6.25
BGCH45BN |70 | 86 (20.5| 8.9 | 129.0 |60(60| M10 [18.0| 94.0 | M8X1.25 [24.4| (16) | 45 |31.1|105|14.0|20.0|17.0| 7298 | 11105 | 2.28 | 9.60
BGCH45BL | 70 | 86 [20.5| 8.9 | 145.0 |60|60| M10 | 18.0| 110.0 | M8X1.25 |24.4| (16) | 45 [31.1/105(14.0|20.0|17.0| 8680 | 13209 | 2.67 | 9.60
BGCH45BE | 70 | 86 |20.5| 8.9 [ 174.0 |60|80| M10 | 18.0| 139.0 | M8X1.25 |24.4| (16) | 45 |31.1|105|14.0({20.0|17.0( 10030 | 16650 | 3.35 | 9.60




=
—

]
|
|
o
o
'
|
jeTTl
|
|

+ N & | ol | .
- \/ VI
| | |
=
4 W2 FS FN, FL, FE
B msesmsmm 8 #g-mm 8 #-mm EEEN-Kaf | 8 12 | 8 8
B Hiwlw2| E| L [B]J|malin]| 7| L1 oilH [T | N [wi|H1[F| d | D] h [cBGC| co | Kgf | Kgfim

BGCH15FN (24 |47 |16.0| 3.0 | 58.6 |38 |30 | M5 | 44 | 8.0 | 40.2 | M4X0.7 | 55| (5) |15|13.0|60|45 |75 |6.0| 1174 | 2001 | 0.21 1.28
BGCH15FL |24 |47 |16.0| 3.0 | 66.1 |38 30| M5 | 44 | 8.0 | 47.7 | M4X0.7 | 55| (5) [15[13.0(60| 45|75 | 6.0 1420 | 2419 | 0.23 | 1.28
BGCH20FN |30 |63 (21.5| 45| 69.3 |53 (40| M6 | 5.4 | 9.0 | 48.5 M6X1 7.11(15.6)| 20 | 16.3|60| 6.0 | 9.5 | 85| 1806 | 3110 | 0.40 | 2.15
BGCH20FL | 30|63 |21.5| 45| 82.1 |53[40| M6 | 54 | 9.0 | 61.3 M6X1 7.1 ((15.6)] 20 | 16.3 |60 | 6.0 | 9.5 | 8.5 | 2341 | 4030 | 0.46 | 2.15
BGCH25FN (36 (70 |23.5| 5.8 | 79.7 |57 |45| M8 | 7.0 [10.0| 57.5 M6X1 10.2|(15.6)| 23 | 19.2 |60 | 7.0 ({11.0| 9.0 | 2534 | 4188 | 0.57 | 2.88
BGCH25FL | 36|70 |23.5| 58 | 944 |57 45| M8 | 7.0 |10.0| 72.2 M6X1 10.2{(15.6)| 23 | 19.2 (60| 7.0 |[11.0| 9.0 | 3256 | 5383 | 0.72 | 2.88
BGCH25FE |36 |70 (23.5| 5.8 |109.1 |57 45| M8 | 7.0 |10.0| 86.9 M6X1 10.2|(15.6)| 23 | 19.2 |60 | 7.0 ({11.0| 9.0 | 3671 | 6454 | 0.89 | 2.88
BGCH30FN (42 (90 |31.0 7.0 | 94.8 | 72|52 [M10| 8.6 [11.0| 67.8 M6X1 8.0 [(15.6)| 28 | 22.8 |80 | 9.0 (14.0({12.0| 3743 | 5565 | 1.10 | 4.45
BGCH30FL |42|90|31.0| 7.0 [105.0| 72|52 |M10| 8.6 |11.0| 78.0 M6X1 8.0 |(15.6)[ 28 | 22.8 | 80| 9.0 [14.0/12.0| 4848 | 7207 | 1.34 | 4.45
BGCH30FE |42 |90 |31.0| 7.0 [130.5|72|52|M10| 8.6 [11.0(103.5| M6X1 8.0 [(15.6)| 28 | 22.8 |80 | 9.0 (14.0(12.0| 5397 | 8842 | 1.66 | 4.45
BGCH35FN (48 (100{33.0| 7.5 |111.5|82 |62 [M10| 8.6 [12.0| 80.5 M6X1 8.0 | (16) [ 34 | 26.0 80| 9.0 [14.0/12.0| 5335 | 8272 | 1.50 | 6.25
BGCH35FL |48(100/33.0| 7.5 [123.5|82 |62 |M10| 8.6 |12.0| 92.5 M6X1 8.0 | (16) [ 34 |26.0|80| 9.0 [14.0/12.0| 6666 |10336| 1.90 | 6.25
BGCH35FE | 48 |100/33.0| 7.5 | 153.5|82 |62 |M10| 8.6 [12.0(122.5| M6X1 8.0 | (16) | 34 | 26.0 |80| 9.0 (14.0({12.0| 7334 |12777| 2.54 | 6.25
BGCH45FN | 60 (120| 37.5| 8.9 | 129.0(100| 80 |M12|10.6|15.5| 94.0 | M8X1.25 |14.4| (16) | 45 | 31.1 |105/14.0(20.0{17.0| 7298 |11105| 2.27 | 9.60
BGCH45FL |60 (120| 37.5| 8.9 [145.0100| 80 |M12{10.6|15.5(110.0| M8X1.25 |14.4| (16) | 45 | 31.1 [105/14.0/20.0|17.0( 8680 |13209| 2.68 | 9.60
BGCH45FE | 60 120] 37.5| 8.9 | 174.0 {100| 80 |M12|10.6|15.5|139.0 | M8X1.25 [14.4| (16) | 45 | 31.1 |105|14.0|20.0|17.0| 10030 | 16650 3.42 | 9.60

(S-B)
N L
MQ — - M
N = - -
ﬁ 0 C el

W2 BN, BL, BE
M43 HEZHRAE-mm /8 #-mm BERH K |78 | B
B H{W/W2|E| L |[BlJ[MQ| I | L1 OlH |T1| N (Wi|HI|F|d|D|h c CO0 | Kgf |Kgf/M
BGCS15BS |24 (34| 9.5 [3.0( 40.6 |26 M4 | 48| 222 | M4X0.7 | 55| (5) |15(13.0/60 |45 |75 |60 | 584 | 99 | 0.10 | 1.28

BGCS15BN |24 (34| 9.5 |3.0| 58.6 {2626 | M4 | 48 | 40.2 | M4X0.7 | 55| (5) | 15|13.0/60 | 45 |75 | 6.0 | 1174 | 2001 | 0.17 | 1.28
BGCS15BL |24 (34| 9.5 (3.0| 66.1 |26 |26 | M4 | 4.8 | 47.7 | M4X0.7 | 55| (5) |15 |13.0/60 | 45| 75| 6.0 | 1420 | 2419 | 0.18 | 1.28
BGCS20BS (28 |42|11.0|4.5| 48.3 | 32 M5 | 55 | 27.5 M6X1 5.1 | ( )| 20 |16.3| 60 | 6.0 | 9.5 | 85| 929 1600 | 0.17 | 2.15
BGCS20BN |28|42|11.0|4.5( 69.3 |32|32| M5 | 5.5 | 48.5 M6X1 51| ( )| 20 [16.3| 60 | 6.0 | 9.5 | 85| 1806 | 3110 | 0.26 | 2.15
BGCS25BS |33 |48 (12.5|5.8| 54.5 | 35 M6 | 6.8 | 32.3 M6X1 72 | ( )| 23 [19.2| 60| 7.0 {11.0] 9.0 | 1295 | 2141 | 0.21 | 2.88
BGCS25BN |33|48|12.5|5.8( 79.7 |35|35| M6 | 6.8 | 57.5 M6X1 7.2 | ( )| 23 [19.2| 60 | 7.0 |11.0| 9.0 | 2534 | 4188 | 0.38 | 2.88
BGCX25BN |36|48|12.5|5.8( 79.7 |35|35| M6 | 9.0 | 57.5 M6X1 10.2 | ( )| 23 [19.2| 60 | 7.0 |[11.0| 9.0 | 2534 | 4188 | 0.40 | 2.88
BGCX25BL |36 |48 (12.5/5.8| 944 |35|35| M6 | 9.0 | 72.2 M6X1 10.2 ( )| 23 (19.2| 60| 7.0 |11.0| 9.0 | 3256 | 5383 | 0.54 | 2.88
BGCX25BE (36|48 |12.5|5.8/109.1 (35|50 | M6 | 9.0 | 86.9 M6X1 10.2 | ( )| 23 (19.2| 60| 7.0 |11.0| 9.0 | 3671 | 6454 | 0.67 | 2.88
BGCS30BS (42 |60|16.0|7.0| 64.2 | 40 M8 [10.0| 37.2 M6X1 8.0 | (15.6) [ 28 [22.8| 80 | 9.0 |14.0|12.0| 1855 | 2758 | 0.50 | 4.45

(15.6)

(15.6)

(15.6)

(15.6)

(15.6)

(15.6)

(15.6)

BGCS30BN (42|60(16.0(7.0| 94.8 | 40|40 | M8 [10.0| 67.8 M6X1 8.0 28 122.8| 80| 9.0 |14.0|12.0| 3743 | 5565 | 0.80 | 4.45
BGCS30BL |42 |60(16.0(7.0{105.0 |40 |40 | M8 [10.0| 78.0 M6X1 8.0 28 |22.8|80 | 9.0 [14.0|12.0( 4848 | 7207 | 0.94 | 4.45
BGCS30BE (42 |60|16.0|7.0(/130.5|40|60| M8 |[10.0(103.5| M6X1 8.0 28 |22.8|80 | 9.0 [14.0|12.0( 5397 | 8842 | 1.16 | 4.45
BGCS35BS (48 |70(18.0|7.5| 75.5 | 50 M8 |10.0| 44.5 M6X1 8.0 34 126.0/ 80 | 9.0 [14.0|12.0| 2674 | 4146 | 0.80 | 6.25
BGCS35BN (48 |70(18.0(7.5/111.5|50|50 | M8 (10.0| 80.5 M6X1 8.0 34 126.0| 80 | 9.0 |14.0|12.0| 5335 | 8272 | 1.20 | 6.25
BGCS35BL |48 |70(18.0(7.5|123.5|50 |50 | M8 [10.0| 92.5 M6X1 8.0 34 126.0{ 80 | 9.0 [14.0|12.0| 6666 | 10336 | 1.40 | 6.25
BGCS35BE |48|70(18.0|7.5|153.5|50|72| M8 |10.0|122.5| M6X1 8.0 34 126.0| 80| 9.0 |14.0|12.0| 7334 | 12777 | 1.84 | 6.25
BGCS45BN |60 |86 |20.5/8.9(129.0| 60|60 |[M10|15.5| 94.0 | M8X1.25 |14.4| (16) | 45 |{31.1|105|14.0(20.0(17.0| 7298 | 11105 | 1.64 | 9.60
BGCS45BL |60 |86 (20.5(8.9|145.0 |60 |60 [M10{15.5|110.0| M8X1.25 [14.4| (16) | 45 |31.1[105|14.0(20.0|17.0 8680 | 13209 | 1.93 | 9.60
BGCS45BE (60 |86(20.5/8.9|/174.0|/60|80|M10|15.5(/139.0| M8X1.25 |14.4| (16) | 45 |31.1|105|14.0|20.0|17.0| 10030 | 16650 | 2.42 | 9.60




EX2EHZER

wm B =

BGC H 25 BN - F27 - -l L|[-[500|-|P|-1]21]|-1|1I
L | |
JBEEFREY B 18 8y FEERAY ;
BGX : FE f&# &= AU VASEE 4 =153
BGC: g #% AU Z0: EF8E
- Z1:8KFE R
— 15 8 53 58 72 : cha
HESE: [ ]: mBA R+ R B EE 73 BIAM
H: S #8& - UU: R B umBhEE i
S {E#E 8 Z: Mt B2 ERIR K
X:45aiA 8 DD: B &[5 EE B OE:
KK:E[FE+ 2B EIRIH L N :Zi@fk
SS: EBHEE+ T BAEE +um B BB H : 5%k
FLAE/mm SD: b B EE + T B E + 5 BB P {52 4E
SP: #B¥5 = 4R
.} dE T3
BN: #E AR - 12 A
BS: AR -2 R u 5, £
BL: ;X -RK A ST E
BE: #E X -MEB L:CsEdL
FN: /A -1Z2#57 C: o4 2 F17{ERA
FS: B/EB-%E1 Ea
FL: B/iB-F8
FE:B/EZFE-MMER

-

oe
BEREKRDBEREAT
2378 1L BR =k iE = I8 1688 465%
FE:5:+886-2-26716600
EHEH:+886-2-26711400
www.staf.com.tw

BG SERIES-C3



	01
	02
	03
	04
	05
	06

